
 

  

 

 

B.Com. DEGREE EXAMINATION —  
DECEMBER, 2019. 

First Year 

Accounting and Finance 

BUSINESS ECONOMICS 

Time : 3 hours Maximum marks : 75 

SECTION A — (3  5 = 15 marks) 

Answer any THREE questions. 

1. State the scope of Business Economics. 

 ÁoP¨ ö£õ¸Î¯¼ß GÀø»ø¯U SÔ¨¤kP. 

2. Derive a demand curve with the help of 
indifference curves. 

 \©÷|õUS ÁøÍ÷PõkPÎß EuÂ²hß ÷uøÁ 

ÁøÍ÷PõmiøÚz u¸ÂUP. 

3. What is meant by land and as a factor of 
production? Explain its characteristics. 

 J¸ EØ£zvU Põμo¯õP {»® GßÓõÀ GßÚ? Auß 

ußø©PøÍ ÂÍUSP. 

 UG–200 BCO–13/
  BAF–13
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4. How is price determined under monopoly? 

 •ØÖ›ø©a \¢øu°À Âø» GÆÁõÖ 

{ºn°UP¨£kQÓx? 

5. Discuss the role of Public Sector Enterprises in an 
economy. 

 ö£õ¸ÍõuõμzvÀ ö£õxzxøÓ {ÖÁÚ[PÎß 

£[QøÚ ÂÁ›UP. 

SECTION B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. Critically examine the law of diminishing 
marginal utility. 

 SøÓ¢u ö\À CÖv{ø»¨ £¯ß£õk Âvø¯z 

vÓÚõ´Ä ö\´P. 

7. Explain the various type of elasticity of demand. 

 ÷uøÁ ö|QÌa]°ß £À÷ÁÖ ÁøPPøÍ ÂÍUSP. 

8. Explain the law of variable proportions. 

 ©õÖ® ÂQuõa\õμ EØ£zv Âv°øÚ ÂÁ›. 

9. What is price discrimination? Explain the first, 
second and third degree of price discrimination. 

 Âø»¨ ÷£u® GßÓõÀ GßÚ? •uÀ{ø», Cμshõ® 

{ø» ©ØÖ® ‰ßÓõ® {ø» Âø»¨ ÷£uzvøÚ 

ÂÍUSP. 
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10. Discuss the difficulties involved in calculating 
National Income. 

 ÷u]¯ Á¸©õÚzøu AÍÂkÁvÀ EÒÍ ]UPÀPøÍ 

ÂÁõv. 

11. Diagrammatically explain various short run cost 
curves. 

 £À÷ÁÖ SÖQ¯ Põ» ö\»ÄU ÷PõmiøÚ 

Áøμ£hzxhß ÂÁ›. 

12. What are the features of Perfect Competition? 
Explain how price is determined under Perfect 
Competition. 

 {øÓÄ¨ ÷£õmi A[Põi°ß C¯À¦PÒ ¯õøÁ? 

{øÓÄ¨ ÷£õmi A[Põi°À GÆÁõÖ Âø» 

{ºn¯® ö\´¯¨£kQßÓx? 

——––––––––– 



 

  

 

 

B.B.A./B.Com. DEGREE EXAMINATION —  
DECEMBER, 2019. 

First Year 

BUSINESS ORGANIZATION 

Time : 3 hours Maximum marks : 75 

PART A — (3  5 = 15 marks) 

Answer any THREE questions. 

All questions carry equal marks. 

1. What are the factors that influence the selection of 
a business organization? 

 J¸ Â¯õ£õμ {ÖÁÚzøuz ÷uºÄ ö\´ÁvÀ EÒÍ 

PõμoPÒ ¯õøÁ? 

2. Define the terms sole trader and partnership. 

 uÛE›ø©  {ÖÁÚ® ©ØÖ® Tmk ÁºzuP {ÖÁÚ 

•øÓ £ØÔ Áøμ¯Ö. 

 UG–237 BBA–12/BAF-12



 

 UG–237 2

3. Mention the advantages of large scale production. 

 ÷£μÍÄ EØ£zv°ß |ßø©PøÍ SÔ¨¤hÄ®. 

4. Explain the objectives of OTCEI. 

 OTCEI°ß ÷|õUP[PøÍ ÂÍUPÄ®. 

5. Explain in detail about the role of chambers of 
commerce. 

 ÁºzuP Tmhø©¨¤ß £[S £ØÔ ÂÍUSP. 

PART B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

All questions carry equal marks. 

6. What do you mean by Business Organisation? 
Explain its characteristics and nature. 

 Â¯õ£õμ Aø©¨¦ GßÓõÀ GßÚ? Auß £s¦PÒ 

©ØÖ® ußø©ø¯ ÂÍUPÄ®. 

7. Explain the features of a company. 

 {ÖÁÚzvß A®\[PøÍ ÂÍUPÄ®. 

8. Discuss the merits of partnership. 

 £[S›ø© •øÓ {ÖÁÚzvß |ßø©PÒ SÔzx 

ÂÁõvUPÄ®. 
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9. Discuss the functions of District Industries Centre 
(DIC). 

 DIC&°ß ö\¯À£õkPÒ £ØÔ ÂÁõvUPÄ®. 

10. What are the objectives and functions of NSE 
(National Stock Exchange)? 

 NSE °ß SÔU÷PõÒPÒ ©ØÖ® ö\¯À£õkPÒ GßÚ? 

11. Discuss the functions of SEBI. 

 ö\¤°ß ö\¯À£õkPøÍ¨ £ØÔ ÂÁõvUPÄ®. 

12. Explain the merits and drawbacks of horizontal 
and vertical combination. 

 Qøh©mh ©ØÖ® ö\[Szx Â¯õ£õμz öuõS¨¦PÎß 

|ßø©PÒ ©ØÖ® SøÓ£õkPøÍ ÂÍUPÄ®. 

  

—————— 



 

  

 

 

B.Com. DEGREE EXAMINATION —  
DECEMBER, 2019. 

First Year 

Accounting and Finance 

FINANCIAL ACCOUNTING 

Time : 3 hours Maximum marks : 75 

SECTION A — (3  5 = 15 marks) 

Answer any THREE questions. 

1. Explain the concepts of accounting. 

 £À÷ÁÖ PnUQ¯À ÷Põm£õkPøÍ ÂÍUSP. 

2. Ramu owned to Krishna Rs. 12,000 on 1.1.2009 on 
the same date Krishna drew upon Ramu a bill for 
the amount at 2 months and Ramu returned the 
bill duly accepted. Krishna got the bill discounted 
at his bank at 6% pa. Before the bill was due for 
payments Ramu told Krishna that he was not able 
to pay the full amount and requested Krishna to 
accept Rs. 4,500 immediately and draw upon him 
another bill for the remaining amount for two 
months together with interest at 8% pa. Krishna 
agreed. The second bill was duly met. Give journal 
entries in the books of Ramu and Krishna. 

 UG–236 BAF–11
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 1.1.2009 AßÖ μõ• Gß£Áº Q¸ènõ Gß£Á¸US 

uμ ÷Ási¯x ¹.12,000, A÷u ÷uv°À Q¸ènõ 

μõ• «x AzöuõøPUS 2 ©õu uÁøn°À J¸ ©õØÖa 

^møh GÊvÚõº. Aøu μõ• HØÖU öPõsk v¸¨¤ 

AÝ¨¤Úõº. A®©õØÖa ^møh Q¸ènõ Á[Q°À 

BskUS ¹.6 GÚ uÒÐ£i ö\´uõº. A®©õØÖa 

^miØPõÚ Põ»® •iÁuØSÒ μõ• Q¸ènõÂh® 

uØ÷£õx ußÚõÀ •Êz öuõøP²® uμ •i¯õx 

GßÖ® uØ÷£õx ¹.4,500 u¸Áx GßÖ® «u•ÒÍ 

öuõøPø¯ BsiØS ¹.8 Ámi²hß ÷\ºzx 2 ©õu 

©õØÖa ^möhõßøÓ HØÖU öPõÒÁuõPÄ® TÔÚõº. 

Aøu Q¸ènõ HØÖU öPõshõº. C¢u CμshõÁx 

©õØÖa ^mk uÁønU Põ»zvÀ •øÓ¯õP 

ö\¾zu¨£mhx. μõ• ©ØÖ® Q¸ènõÂß HkPÎÀ 

SÔ¨÷£mk £vÄPøÍ u¸P. 

3. Calculate insurance claim from the following facts 
assuming that the insurers met their liability 
under the policy on ‘average basis’. A traders stock 
valued at Rs. 40,000 was totally destroyed. The 
stock in the godown, was insured for Rs. 30,000 
subject to average clause. The balance of stock, left 
after fire, appeared in the books at Rs. 24,000. 

 RÌPõq® ÂÁμ[PÎ¼¸¢x Põ¨¥mhõÍº, \μõ\› 

\μzvß Ai¨£øh°À, uß ö£õÖ¨¦z öuõøPø¯z 

u¸QÓõº GßÓ FPzvÀ, Põ¨¥mk ÷Põ›UøPø¯U 

PshÔP. J¸ Â¯õ£õ›°hª¸¢x ¹.40,000 

©v¨¦ÒÍ \μUS •ÊÁx® ÷\u©øh¢ux. Qh[QÀ 

C¸¢x \μUS ¹.30,000US £õ¼] GkUP¨£mkÒÍx. 

÷\u©øh¢u \μUQ¸¨¤ß ©v¨¦ \μõ\› \μzvß£i, 

PnUQh¨£hÄÒÍx ÷\u©øh¢u \μUøP uÂμ HmiÀ 

«uª¸¢u \μUQß ©v¨¦ ¹.24,000 BS®. 
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4. On 1st January, 1992, a company purchased 
Rs.12,000 and on 30th June, 1993 it acquired 
additional machinery at a cost of Rs. 2,000. On  
31st March, 1994 one of the original machines 
which had cost of Rs.500 was found to have 
become obsolete and was sold for Rs.50. It was 
replaced on that date by a new machine costing 
Rs.800. Depreciation to be provided at the rate of 
15 per cent per annum on the written down value. 
Show machinery Account for the first three years. 

 1.1.1992À J¸ {ÖÁÚ® ¹.12,000US C¯¢vμzøu 

Áõ[Q¯x. 30.6.1993À ¹2,000US ÷©¾® J¸ 

C¯¢vμzøu Áõ[Q¯x. 31.3.1994À •u¼À 

Áõ[P¨£mh C¯¢vμzvÀ ¹.500 ©v¨¦ÒÍ JßÖ 

£øÇ¯uõQ ÂmhuõÀ ¹.50US ÂØP¨£mhx. A÷u 

÷uv°À ¦v¯ C¯¢vμ® JßÖ ¹.800US 

Áõ[P¨£mhx. SøÓ¢xö\À C¸¨¦ •øÓ°À 

÷u´©õÚ® BskUS 15 \uÃu® JxUSP. •uÀ 

‰ßÖ BskPÐUS C¯¢vμ PnUøP u¯õº ö\´P. 

5. On what basis the following are to be apportioned 
in departmental accounts? 

 (a) Workmen’s insurance. 

 (b) Power. 

 (c) Carriage inwards. 

 (d) Repairs to building. 

 (e) Workmen’s welfare expenses. 
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 xøÓU PnUSPÎÀ RÌUPshÁØøÓ Guß 

Ai¨£øh°À JxURk ö\´ÃºPÒ 

 (A) öuõÈ»õÍº Põ¨¥k 

 (B) ªß\Uv vÓß 

 (C) EÒyUS T¼  

 (D) PmihzvØUS £Êx£õºuÀ 

 (E) öuõÈ»õÍº |»ß \õº¢u ö\»ÄPÒ. 

SECTION B — (4  15 = 60 marks) 

Answer any FOUR questions. 

6. Ganesh book shows the following balances. 
Prepare his trading and profit and loss account for 
the year ended 31st March 1995 and Balance Sheet 
as on that date. 

Particulars 
Debit 
Rs.  

Credit
Rs. 

Stock (1.4.94) 15,000
Purchases 13,000
Sales 30,000
Carriage inwards 200
Salaries 5,000
Printing and stationary 800
Drawings 1,700
Sundry creditors 2,000
Sundry debtors 18,000
Furniture 1,000
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Particulars 
Debit 
Rs.  

Credit
Rs. 

Capital 25,000
Postage 750

Interest 550

Machinery 4,000

Loan 3,000

 60,000 60,000

 Adjustments : 

 (a) Depreciate Machinery by 10% and furniture 
by 5%. 

 (b) Allow interest on capital at 5%. 

 (c) Provide 5% for bad and doubtful debts on 
debtors. 

 (d) Stock on 31.3.95 Rs.12,000. 

 P÷nè HkPÎ¼¸¢x ¤ßÁ¸® C¸¨¦PÒ 

GkUP¨£mhÚ. 31.3.95 ÷uv÷¯õk •iÁøh¢u 

BsiØS Â¯õ£õμ ©ØÖ® C»õ£ |mhU PnUøPz 

u¯õº ö\´x Az÷uv°À EÒÍ£i C¸¨¦ {ø»U 

SÔ¨¤øÚ²® u¯õ›UP. 

ÂÁμ[PÒ £ØÖ ÁμÄ

 ¹. ¹. 

\μUQ¸¨¦ (1.4.94) 15,000
öPõÒ•uÀ 13,000
ÂØ£øÚ 30,000
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ÂÁμ[PÒ £ØÖ ÁμÄ

 ¹. ¹. 

EÒyUSU T¼ 200

\®£Í® 5,000

Aa_U T¼²® GÊxö£õ¸Ð® 800

Gk¨¦ 1,700

PhÜ¢÷uõºPÒ 2,000

PhÚõÎPÒ 18,000

©øÚzxøn¨ ö£õ¸Ò 1,000

•uÀ 25,000

u£õÀ ö\»Ä 750

Ámi 550

C¯¢vμ® 4,000

Phß 3,000

 60,000 60,000

 \›UPmhÀPÒ . 

 (A) ÷u´©õÚ® C¯¢vμzvß «x 10 \uÃu®, ©øÚ 

xøn¨ ö£õ¸Îß «x 5 \uÃu® AÝ©vUP 

 (B) •uÀ «x Ámi 5 \uÃu® AÝ©vUP 

 (C) PhÚõÎPÒ «x ÁõμõUPhß ©ØÖ® 

I¯UPhÝUPõP 5 \uÃu® JxUSP 

 (D) \μUQ¸¨¦ (31.3.95£i) ¹.12,000. 
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7. The receipt and payments account for 2013 of a 
Recreation club is given below : 
Receipts Rs. Payments Rs. 

To Donation 5,000 By Salaries 10,000

To Life membership fee 1,800 By Rent 11,500

To Entrance fees 2,500 By Furniture 1,000

To Subscription 6,750 By Electricity 600

To Canteen receipts 25,000 By Canteen Purchases 20,000

To Journey receipts 4,000 By Journey Expenditure 1,580

To Other receipts 500 By Telephone 490

To Interest received 250 By Bank Balance 1,430

To Card room receipts 200 By Cash Balance 400

To Grant from Calcutta 
Corporation 

 
1,000 

 

 47,000  47,000

 Adjustments : 

 (a) Donation entirely ¾ of the life membership 
fees and ½ of the entrance fees are to be 
capitalised. 

 (b) Subscription received in advance Rs. 500 and 
outstanding Rs. 1,100. 

 (c) Rent 2,500 was paid for in advance. 

 (d) Salaries include an advance of Rs. 600. 

 (e) Furniture is to be depreciated by 5%. 

  You are required to draw up an income and 
expenditure account and balance sheet. 
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 J¸ ©Ú©QÌ ©ßÓzvß 2007 B® BskUPõÚ 

ö£ÖuÀ – ö\¾zuÀ P/S R÷Ç uμ¨£mkÒÍx 

Receipts ¹. Payments ¹. 

|ßöPõøh 5,000 \®£Í® 10,000
B²Ò EÖ¨¤Úº \¢uõ 1,800 ÁõhøP 11,500
~øÇÄ Pmhn® 2,500 ©øÚzxøn¨ ö£õ¸mPÒ 1,000
\¢uõ ö£ØÓx 6,750 ªßö\»Ä 600
]ØÖsi \õø» ‰»®   

ö£ØÓx 25,000 ]ØÖsi \õø» öPõÒ•uÀ 20,000
£¯nzvØPõP ö£ØÓx 4,000 £¯na ö\»ÄPÒ 1,580
¤Ó ö£ÖuÀPÒ 500 öuõø»÷£] 490
Ámi ö£ØÓx 250 Á[Q C¸¨¦ 1,430
Põºk AøÓ ö£ÖuÀPÒ 200 öμõUP øP°¸¨¦ 400
PÀPzuõ ©õ|Pμõm]°h®   

C¸¢x ö£ØÓ ©õÛ¯® 1,000  

 47,000  47,000

 RÌPsh ö£ÖuÀPÒ ‰»uÚ¨£kzu¨£h ÷Ásk® 

 (A) |ßöPõøh •ÊÁx® B²Ò EÖ¨¤Úº 

\¢uõÂÀ ¾ £Sv ~øÇÄ PmhnzvÀ ½ £[S 

 (B) •ß ö£ØÓ \¢uõ ¹.500 Áμ ÷Ási¯ \¢uõ 

¹.1,100 

 (C) ‰ßÖ ©õu[PÐUPõÚ ÁõhøP ¹.2,500 •ß 

ö\¾zu¨£mkÒÍx 

 (D) \®£ÍzvÀ •ß öuõøP ¹.600 ÷\º¢xÒÍx 

 (E) ©øÚzxøn¨ ö£õ¸Ò «x 5% ÷u´©õÚ® 

JxUSP. 

  Á¸Áõ´ ö\»ÂÚU PnUøP²® C¸¨¦ {ø»U 

SÔ¨ø£²® u¯õº ö\´P. 
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8. A trader who does not keep a proper books of 
account gives you the following particulars : 

 1.1.2001 31.12.2001

Debtors 5,300 8,800
Creditors 1,500 1,950
Stock 1,700 1,900
Fixed assets 2,140 1,740
Other Particulars Rs. 
Total sales (cash sales Rs.500)  10,000
Total purchases (cash purchases 
Rs.2,050) 

4,500

General purchases 1,000
Drawings 300
Bank balance (on 31.12.2001) 410
Payments for fixed assets 500

 He had drawn goods of Rs.500 for his personal 
use. Interest on capital at 5% p.a Prepare trading 
and profit and loss a/c for the year ended 
31.12.2001 and balance sheet as or that date. 

 J¸ Â¯õ£õ› uÚx öuõÈÀ |hÁiUøPPõÚ E›¯ 

£v÷ÁkPøÍ øÁzvμõuuõÀ AÁμx öuõÈÀ £ØÔ¯ 

ÂÁμ[PøÍ RÌPshÁõÖ u¸QÓõº 

 1.1.2001 31.12.2001

PhÚõÎPÒ 5,300 8,800

PhÜ¢÷uõº 1,500 1,950

\μUQ¸¨¦ 1,700 1,900

{ø»¯õÚ ö\õzxUPÒ 2,140 1,740
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 1.1.2001 31.12.2001

¤Ó ÂÁμ[PÒ ¹. 

ö©õzu ÂØ£øÚ (öμõUP ÂØ£øÚ ¹.500) 10,000

ö©õzu öPõÒ•uÀ (öμõUP öPõÒ•uÀ 

¹.2,050) 
4,500

ö£õx ö\»ÄPÒ 1,000

Gk¨¦PÒ 300

Á[Q C¸¨¦ (31.12.2001) 410

{ø»¯õÚ ö\õzxUPøÍ ö\¾zv¯x 500

 uÚx ö\õ¢u E£÷¯õPzvØPõP \μUS Gkzux ¹.500, 

‰»uÚ, Ámi 5% BsiØS 31.12.2001À 

•iÁøh²® BsiØPõÚ Â¯õ£õμ C»õ£ |mhU 

PnUSPøÍ²® A÷u ÷uv°À C¸¨¦ {ø»U 

SÔ¨¤øÚ²® u¯õ›UPÄ® 

9. On 1-1-2010, a company purchased 5 machines at 
Rs.10,000 each. On 1.7.2012, the company 
purchased another 2 machines for Rs. 10,000 each 
and paid Rs. 1,000 for installation expenses. 
Accounts are closed on 31st December every year. 
Annual depreciation rate is 10% on 31.12.2012, 
the company sold the machineries purchased on 
1.1.2010 for 30,000 prepare machinery account on 
diminishing balance method. 
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 1-1-2010À J¸ {ÖÁÚ® ¹.10,000 Ãu® 5 

C¯¢vμ[PÒ Áõ[Q¯x. 1.7.2012À ÷©¾® 2 

C¯¢vμ[PÒ u»õ ¹. 10,000 Ãu® Áõ[Q¯x. CuøÚ 

{ÖÄÁuØPõÚ ö\»Ä ¹. 1,000. PnUSPÒ JÆöÁõ¸ 

Bsk® i\®£º 31À •iUP¨£mhx. BskUPõÚ 

÷u´©õÚ® ¹.10 31.12.2012 À •u¼À (1.1.2010 À) 

Áõ[Q¯ C¯¢vμ[PÒ ¹.30,000 US ÂØP¨£mhx. 

SøÓ¢xö\À C¸¨¦ •øÓ°À C¯¢vμ PnUQøÚ 

u¯õ›UPÄ®. 

10. ABC Company invoiced goods to its Delhi branch 
at cost. The head office paid all the branch 
expenses from its bank except petty cash expenses 
which were paid by the branch. From the following 
details relating to the branch. Prepare. 

 (a) Branch stock a/c. 

 (b) Branch debtors a/c. 

 (c) Branch expenses a/c 

 (d) Branch profit & loss a/c. 
Particulars Rs. 

Stock (Opening) 21,000

Debtors (opening) 37,800

Petty cash (opening) 600

Goods sent from head office 78,000

Goods returned to head office 3,000

Cash sales 52,500

Advertisements 2,400
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Particulars Rs. 

Cash received from debtors 85,500

Stock (closing) 19,500

Allowances to customers 600

Discount to customers 4,200

Bad debts . 1,800

Goods returned by customers to branch 1,500

Salaries  and wages 18,600

Rent and rates 3,600

Debtors (closing) 29,400

Petty cash (closing) 300

Credit sales 85,200

 ABC {Ö©® uÚx öhÀ¼ QøÍUS \μUSPøÍ 

AhUPÂø»°À AÝ¨¤¯x. uø»ø© A¾Á»P® 

uÚx QøÍ°ß ]À»øÓ öμõUP ö\»ÄPøÍU (QøÍ 

Caö\»ÄPøÍ uõ÷Ú ö\¾zv¯x) uÂμ ¤Ó AøÚzx 

ö\»ÄPøÍ²® uõ÷Ú uÚx Á[Q°ß ‰»® 

ö\¾zv¯x. QøÍ°ß RÌPsh Â£μ[PøÍ öPõsk, 

¤ßÁ¸® PnUSøÍz u¯õ›UPÄ®. 

 (A) QøÍ \μUS PnUS  

 (B) QøÍ PhÚõÎPÒ PnUS 

 (C) QøÍ ö\»ÄU PnUS 

 (D) QøÍ C»õ£ |mhU PnUS. 
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Â£μ[PÒ ¹. 

\μUQ¸¨¦ (öuõhUPzvÀ) 21,000

PhÚõÎPÒ (öuõhUPzvÀ) 37,800

]À»øÓ öμõUP® (öuõhUPzvÀ) 600

uø»ø© A¾Á»Pzv¼¸¢x v¸¨¤ 

AÝ¨£¨£mh \μUSPÒ 

78,000

uø»ø© A¾Á»PzvØS v¸¨¤ 

AÝ¨£¨£mh \μUSPÒ 

3,000

öμõUP ÂØ£øÚ 52,500

ÂÍ®£μ[PÒ 2,400

PhÚõÎPÎhª¸¢x ö£ØÓ öμõUP® 85,500

\μUSPÒ (CÖv°À) 19,500

ÁõiUøP¯õÍºPÐUS AÎUP¨£mh 

£iPÒ 

600

ÁõiUøP¯õÍºPÐUS AÎUP¨£mh 

uÒÐ£i 
4,200

ÁõμõU PhßPÒ 1,800

ÁõiUøP¯õÍºPÎhª¸¢x QøÍUS 

v¸¨¤ AÝ¨£¨£mh \μUSPÒ 

1,500

\®£Í[PÒ ©ØÖ® T¼PÒ 18,600

ÁõhøP ©ØÖ® Á›PÒ 3,600

PhÚõÎPÒ (CÖv°À) 29,400

]À»øÓ öμõUP® (CÖv°À) 300

Phß ÂØ£øÚ 85,200
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11. The following purchases were made by a business 
house having three departments : 

 Department  A — 1000 units   

 Department  B — 2,000 units 

 Department  C — 2,400 units 

 Stock on 1st  January were : 

 Department  A — 120 units 

 Department B — 80 units 

 Department C — 152 units 

 The sales were : 

 Department  A — 1,020 units at Rs.20 each 

 Department  B — 1,920 units at Rs.22.50 each 

 Department  C — 2,496 units at Rs.25 each 

 The rate of gross profit is same in each case. 

 Prepare Departmental Trading Accounts. 

 xøÓ A — 1000 A»SPÒ   

 xøÓ B — 2,000 A»SPÒ 

 xøÓ C — 2,400 A»SPÒ 

 áÚÁ› 1&® |õÍßÖ Bμ®£a   

 \μUQ¸¨¦ RÌÁ¸©õÖ : 

 xøÓ A — 120 A»SPÒ 

 xøÓ B — 80 A»SPÒ 

 xøÓ C — 152 A»SPÒ 

 
at total cost 

of  
Rs. 1,00,000

 
ö©õzu Âø» 

¹. 1,00,000
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 ÂØ£øÚ RÌÁ¸©õÖ : 

 xøÓ  A — 1,020 A»SPÒ JßÖ ¹.20 Ãu® 

 xøÓ B — 1,920 A»SPÒ JßÖ ¹.22.50 Ãu® 

 xøÓ C — 2,496 A»SPÒ JßÖ ¹.25 Ãu® 

 ö©õzu C»õ£ ÂQu® GÀ»õzxøÓPÎ¾® 

J¸ªzu©õP C¸¢ux. xøÓÁõ› Â¯õ£õμ 

PnUQøÚz u¯õ›UP. 

12. Describe the different method of recording 
transactions relating to Joint venture. 

 CønÂøÚ |hÁiUøPPøÍ¨ £vÄ ö\´²® 

|øh•øÓPøÍ ÂÍUSP. 

——––––––––– 




